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Name: _ ) _ ‘ Marks:

Class: Primary 3 . Register No. Duration: 50 min

Parent's Signature:

Instructions to Pupils:

1. Do not open tha booklet Until you are told to do so.

2. Foltow all instructions cafefully. ' _

- 3. This paper consists of Z parts, Sectioris A and B S
4, ANSWER ALL THE QUESTIONS.

Maximum Marks |  Marks Obtained
Section A 24 marks |
Section B 16 marksl
Total 40 marks

* This booklet consists of 14 printed pages (including cover page).
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: You rﬁngsclearfy Foriiestions
VoL ,ansWers i the tnits stated,

f.. The bar graph below:shows the Tavourite’sports of some children,
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Numberof 16-1-
chidren |

Baskethall Tennis: Seecer Swimmming

Whieh is the sport that most children choose 45 theii favourite?
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2 (Boon'to thenext page)




2. Thebar graph shows h deinfs whi
bookshep from Monday to.Fi

' Ngpiber of students who visfted fhie schiool Bookshop. * -
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4, Arrangethissetoffrasnonsmorden eginining with the'simallest,

Ans; e S
smallest:
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5, Thebargraph showsthe numberof

s thaf four children bave

* How many books fiust Johi give:to Baldi st that they will have ihie same
uriber of books? S S
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Thes bar graph sholws ths nuimber of tickels sold by the Primary. 3 classes
fof a school event. T ’

Numiber-of tickets. sold

3B 3G
Prmary 3 Classes

a). Whiich class $old thie most number of tickets?

by How miich money 8 the class in part (a) cotieet in totai?

& . (Gadhtole nextpage) .




Wﬁatwés fhe: tdtal length oj boih si‘rmgs ﬂsed in c;entnrmsm*es'a1
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. Do netwiite
i this space

8

Express ;]—92- iry its simplest. form..

. [Gaon 't the next page}
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40, Findthevaiueof;%-

Give your answer i the simplést form.

L : b §
1. Find the value of 7

Give your arsswver;

in:the siviplest form.

8 i




BP~250

. | Donot writs

|inthis space

12. “The bankisopen rom 8,30 . 65.90

LS L

) Who'spentalongerfime at the bank?.

ﬁns;b} e

g " (G e fothie ewt page)



g Gwer\mé mhfamerhhasa capacity of 69!30 i, tiow much morg apple-

fuice would bie nisedsd o il the contalner: compfetelyﬁ
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Ben took 1h 50 min to walk from his house 10 the - paﬂc
He reached the park at9.10 a:m.
What time did he feave bis house?'

Aos . am

10 o 160 ori o e et pee)
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iss of the-emplyt " :
Alimad sold some of the wal ermelons and had 26 kg’ of the watermelon

st
How many kilograms of the: watermelorns was soid?

# | {oon 5 hatrpags)



) Whatis the distance betweerthe first.and third iree?
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[2]

by There are 18 trees sltogsther. N
Whiat is the totat distance betweer the first

L) R
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- [Go'on'to the héxt Bage)




) How nuch money did the thrée boys save shtogether?

- 18]
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‘and Kim fiad 100 stickers, L - pind
J Pertg geive Kim 45 stiokers, XiPeng iad 41inies ssmany stickers |

) How miahy stickers did Kim have igw?.

b) How many stickers did Xi Peng have at first?

o 21

Enid of paper

C (S onito e et pege)
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LEVEL
SCHOOL:

SUBIJECT :
TERM.

PRIMARY 3

ROYSTH SCHOOL
MATHEMATICS

WEIGHTED ASSESSMENT TWO-

Ql Swimming

39-12=27 "

Q2
Q3 | 2560m Qr {222
753
Qs |25 je8 }a}3s
' b} 580 x 2320 = $2320
Q7 | 150 x4 = 600cm Qa8 j
Qs % Q1o .E
Qi1 |2,.1_.5 ] Q12 | a) 30min
' 12 12 12 b) Maya
Q13 | 850 x 7 =5950 ql4 | 7.20 a.n.
' } 6000 - 5950 = 50m!
Qi | Watermelon : 145 6 = 139 Q16 | distance between 1" to 3° : 7 + 7
| sold watermelon : 13926 =113 | =14
‘ {a) Tha distanceé is 14m
| 113 kilograms of the watermelons
was sold. | No.ofgaps:18-1=17
’ Distance between first to last : 17 x
=119
-{b} The totat distance between the
. . . . _ 3 first to last tree s 119,
Q17 | Raja 1300~ 70=5230 oAs | (a)5units: 100
{a) Rajd soved $230- ' {Kim) : 100 = 5 =20 Stickers
Kassim : 300 x 6 = 1800 (B} 20 x 4 =580
Total : 1800 + 300 4 230 = 2330 {at first} Xi Peng : 80 + 15 = 95
(b} The three boys saved $2330
altogether.
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